KOLOR: CZARNY

10136

10129 lewa

NR ELEMENTU

NUMER CZESCI

ILOSC

A-30x80

PAD40-2

DIN 7349-10.5-St

DIN 912 M10 x 100 ---
32N

TU-22x5_10

B4016

TU-22x6_10

DIN 912 M10x1.25 x 80 ---
32N

Washer ISO 7089 - 10

DIN EN 1663 - M10 - N

Zlalo] © [Njovuo| A {w|N|—

SR2-M10-280

JENE, N SR [ O RS U U [ NI JUS— —

10129 prawa

NR ELEMENTU

NUMER CZESCI

OPIS

ILOSC

1

A-30x80

PAD60-2

DIN 7349-10.5-St

DIN 912 M10 x 100 --- 32N

TU-22x5_10

B40146

TU-22x6_10

DIN EN 1663 - M10 - N

) —m | e — | — N

Neo o« INNEIN NS RINININ]

Washer DIN 125 -B 10.5

o

DIN 912 M10x1.25 x 80 ---
32N




	Arkusz1
	Widok rysunku1
	Widok rysunku2


